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The block above is the sum of the two blocks below.  Fill in the missing blocks.

7.6 14 4.9 13.3 17.5 2

18.9

349.1

8 1
3

1
3

4 7
12 7

28 1
3

Write 42,672 in words.
20 lb = oz
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What is the greatest 
common factor of 8 and 12?

15 - n = 5 What is the least common 
multiple of 9 and 3?

5 . 2
- 2 . 7 1

6 - 3.4 = 
5 . 7 4 7

- 4 . 3 7 4

77 - 2
3

 = Reduce 99
153

 to its lowest 

terms.

7  +  7
11

 - 7
8

 =

Write as a decimal.
Seventeen and one tenth Write as a decimal.

 19 8
10

Write as a decimal.
Thirteen and seven 
hundredths

4y = 24
N
7

 = 3
8m = 32
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9 5 5 . 8
5 . 5

x 3
0 . 7 5 7

x 4

Sketch an obtuse angle 
named BCD.

Sketch a right angle named 
GHI.

Sketch an acute angle 
named CDE.

2 - 3 - 1 = On a number line, what is 
the number that is 2 spaces 
right of -1?

6 - 15 =

5 7
+ 3 1

8 3 0 4,
- 4 7 0 4,

What number is 448 less 
than 486?

9 1
x 8 7

Multiply 43 and 5.
4 4 9

x 4
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Hunter didn't have 
much to do. It was 
Quiet Day and he hated 
being quiet. He decided 
to draw. First he drew a 
rectangle with a 
perimeter of 24 inches. 
Then he drew 2 circles 
inside it. The circles had 
a diameter of 4 inches. 
The rectangle was 4 
inches long. How wide 
was it?

Yesterday it rained for 3 1
2

 hours at Maria's house. She 

got to use her new pink 

umbrella. At Rosa's house it 

only rained for 1.3 hours. 

How much longer did it rain 

at Maria's house?

Emma bought a book 
about roses for her 
teacher for Teacher 
Appreciation Week. The 
book cost $9.54. The 
clerk added 4% for tax. 
What was the total cost 
of the book?

Eric invented a robotic bug.  The bug 
can crawl five centimeters in sixteen 
seconds.  How long would it take the bug 
to crawl thirty-nine centimeters?

Sara invented a robot.  The robot's name 
is Nathan.  Nathan can go a maximum 
speed of 5 mph.  At that rate, how long 
would it take Nathan to go 11 miles?

Write an equation to represent this:

The sum of eleven and nine is twenty.

1 km = 1,000 m

9 km = m
2 8 2

+ 2 8 4

How many centimeters are in 80 millimeters?

 centimeters

Circle the addition property 
for 39 + 156 = 156 + 39.

associative property
commutative property
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4 5 5
- 2 0 1

Which is the smallest?

55.9 ÷ 6.5 55.9 ÷ 6.6 55.9 ÷ 6.4
7 8

- 6 3

Draw a shape that has between 
three and four lines.  The shape 
should have at least one line of 
symmetry.  Show the line of 
symmetry using a dotted line.

72 ÷ 8 = 8 x 7 = 

Ava wrote that 85 divided by 8 has a 
remainder of 5.  For her homework, she 
needs to find two other numbers that when 
divided by 8 will have a remainder of 5.  
Help her with her homework.

4 8
+ 2 0

42 ÷ 7 = 
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= 7 7 7 = 2 9 x 1 = 9 8 4 8 0 =
5

Use the pieces above to help you fill in the runaway math puzzle.

(9 + 4) + 2 = 108 ÷ 12 = 

11 x 4 = 

1 2 ÷ 6 2

÷
x 3 = 2 1 3

= ÷ 2
3 9 8 ÷
x 8

=
1 ÷ 6 = 3 ÷

x 2
x 0 = 0

9
6 x = 3 0
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4 8 6 = 3 2 = 4 x 5 = 2 0 0 8 8
9 3 6 2

Use the pieces above to help you fill in the runaway math puzzle.

What time is 13 hours after 
2:00 p.m.?

Megan was given five numbers:  9,  7,  
10,  13,  and  15.  She needs to use two 
of these numbers to make a fraction.  
Can she make a fraction that is less 
than four-fifths?

Write a letter that has two or 
more lines of symmetry.

Cross out the word that is not a relative 
adverb.

how, but, why, when

÷ 1 = 4 2 x = 1

x 3 x 3 9

9 x 7 = 6 5 x

7 = 2 1 ÷ 3 7 1

÷ 1 3 =

= 0

= = 2

0 ÷ = 5 4

x ÷

7 2

= =

3

1
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- 14 = 38 91 - = 40 36 - = 17

- 33 = 49 - 45 = 39 83 - = 3

71 - = 31 - 24 = 32 61 - = 21

- 48 = 10 99 - = 43 - 51 = 2

6 x 9 = 5 x 6 = 2 x 2 =

5 x 9 = 4 x 6 = 4 x 9 =

8 x 6 = 9 x 5 = 7 x 8 =

2 x 9 = 2 x 7 = 2 x 3 =

76
82-

49
29-

58
62-

62
51-

68
94-

06
43-

36
51-

55
45-

45
25-

89
01-

74
42-

68
27-

x

65

13 5

x

96 4

x

33 2

x

36 4
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61
+

14

200
x

10

247
x

19

49
+

31
x

16 27

+

+ x

33 11 3

x

x

13
+

2 11 8

330
x

11
+ x

3 5 6

468
x

18
+

26
+

+

9
+ +

6
+

4 4 5 14 4 2

440
x

20
+

22
x

+

14
+

11
+

2
+

4 8 6 1

3,   ,   ,   ,   ,  

,    52

How many centimeters in 1.6
meters?

Round 73,234 to the 
nearest hundred.

word root aqua can mean water aquarium, aquatic
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<
True False

<
True False

=
True False

>
True False

=
True False

=
True False

Did you find that two are true?  If not, look again!
You should only mark TRUE if you are absolutely sure it is correct!
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Fill in the blanks by adding the two numbers below each hexagon.

58

32

18

9 9 5 7

44

16

7 9 2 4

76

29

9 8 4 2 3

46

15 12

3 6 3 4

86

19

7 3 6 7 3

59

21

10

2 9 9
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Is 25 a composite or a 
prime number? 7,  9,  11,  13,  ,   17,  

19,  21

Is 19 a composite or a 
prime number?

There are 2 groups of 5 
rocks.  How many rocks?

Round 479 to the nearest 
hundred.

Double the number 8 three 
times.

What is the area of a 
rectangle with sides 4 cm 
and 12 cm?

72 ÷ 9 + 6 How much money is 1 
quarter, 5 dimes, 1 nickel, 
and 1 penny?

77 divided by 11 equals Write the missing family 
fact.
56 ÷ 14 = 4
14 x 4 = 56
4 x 14 = 56

A rectangle is 43 cm on 
one side and 8 cm on 
another side.  What is the 
perimeter?

34 + n = 52 What is 50% of 1,528? (1 x 12) + 10
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END 9 + 12 - 6

(4 + 5) - 4 + 4

9 - 3 + 11 + 9

8 + 10 ÷ 2

END

3 + (1 + 6) - 9

110 ÷ 10 x 8

1 x 10 + 5

12 - 2 + 8 x 12

5 - 5 + 4

END
9 + (11 x 2) x 7

6 ÷ 1 + 6(7 + 7) + 12

8 + 8 - 11 + 10

8 + 12 + (8 x 1) 6 + 4 + 5 x 8

END

1 x 6 + 12

8 - 30 ÷ 5

(7 - 7) + 3

22 ÷ 2 x 5

11 + 7 - 5

3 x 4 - 10 + 1

9 + (8 + 10) - 4

START

13

Draw a line from START to END.
9 1 50
13

Cross out the number you use above and then write it below.
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Cross off the number that does NOT belong.

16, 24, 33, 43, 54, 66, 79, 93, 108, 124, 141, 159, 176, 178

Why does __________ not belong in the pattern?

Cross off the number that does NOT belong.

5 6
9 , 5 3

9 , 5, 4 6
9 , 4 3

9 , 4, 3 6
9 , 3 3

9 , 3, 

2 6
9 , 2 5

9 , 2 3
9 , 2, 1 6

9 , 1 3
9 , 1, 6

9 , 3
9

Why does __________ not belong in the pattern?
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Fill in each box of the edHelperKu puzzle, using the numbers from 1 to 5.
Every row must contain the numbers 1, 2, 3, 4, and 5.
Every column must contain the numbers 1, 2, 3, 4, and 5.
In a cage with a plus sign, the given number will be the sum of all the digits in the cage.
In a cage with a subtraction sign, the given number will be the difference. The largest number 
will always be the box with the clue.

5

1

1

3
10+

1- 2-

2-

3-

2-

11+

1-

1-

8+

4

4

Fill in the blanks.  These equations are from the puzzle above.

3 - = 2 - 1 = 1

5 + + = 10 - 4 = 1

- 3 = 2 5 - = 3

1 + + = 8 3 - = 2
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ACROSS

1. 10-Across plus 2-Down

6. Four times 7-Down

10. Three more than 2-Down

12. Six less than 16-Across

13. 8 + 8 = 2 x ____
14. 10-Across plus 16-Across

15. 6-Down plus 2-Down

16. One more than 11-Down

DOWN

2. Six less than 3-Down

3. Nickels in ten dollars

4. Two more than 5-Down

5. Two less than 8-Down

6. 10-Across plus 1-Across

7. Five more than 13-Across

8. Three more than 6-Down

9. 8-Down plus 12-Across

11. Nine less than 10-Across

1 2 3 4 5

6

7 8

9

10

11 12

13 14

15 16

8 x -3 = -29 + 22 = -5 x 1 =

9 + 1 x 5 - 2 Round the decimal 0.575 to 
the nearest hundredth.

How many minutes is it 
from 8:00 a.m. to 11:50 a.m.?
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